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ADSRA TL—=RHALI) ILITL— d—RX FOE&=H TR EASTBT(KH)
START | >«#7| Player A Index Hdcp Player B Index Hdcp Player C Index Hdcp Player D Index Hdcp
1 zoo | es7 | FHI BEZ 4.9 8 X 2t 5.2 8 = £8 7.5 11 ARBIFEE 9.0 12
2 706 | 7:03 | §F K 13 5.5 8 B X X 6.9 10 I 8.3 12 n s b= 11.2 15
3 712 | 709 | WA B — 4.2 7 wE =@ 7.3 10 RN B 8.7 12 =X &iA 11.3 15
4 718 | 715 | HIR BR 4.2 7 £ & 4.4 7 iE 2 5 5.0 8 £33 BE 7.3 10
5 724 | 721 | L 14 3.1 5 AL £ 4.6 7 k& B2 10.0 14
6 730 | 727 | KA WE 3.6 6 sl BE 5.8 9 BX ®& 6.1 9 i —= 7.3 10
7 7:36 | 7:33 2 g 5.5 8 "B &% 6.8 10 PH B8% 8.2 12 FH 5% 8.8 12

BOSR  JTL—RIAMI Fv7qH&E J—X B E=EVUH  #ERF<RT(H)
START 747 | Player A Index Hdcp Player B Index Hdcp Player C Index Hdcp Player D Index Hdcp
1 zoo | es57 | A BEE 13.5 15 mE X 15.6 17 & B 16.7 19 e ®A 215 24
2 7:06 | 7:03 X8 = 12.3 13 HE @2 12.6 14 XKHEA BFBR 16.3 18 =@ IE= 23.7 27
3 712 | 709 | o 11.6 13 Ho 11.8 13 W B BE 1T 13.9 15 BE R L7 15.0 17
4 7:18 | 7:15 HE &£ 12,5 14 X M B 13.6 15 AH &3k 15.5 17

¥ TL—RFA4) ILITL— d—R EUB=FDE EATLT(FR)
START 7«47 | Player A Index Hdcp Player B Index Hdcp Player C Index Hdcp Player D Index Hdcp
1 700 | 657 | A P = 6.8 11 BEH & 12.0 18 A W 5 13.0 19 RE® E=x 16.5 23
2 706 | 703 | H & & 8.4 13 PEAEH 10.8 16 BH LK 12.7 19
2 712 | 700 | MHERF 6.4 11 Wiy == 7.3 12 BE T& 13.2 19
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